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It mwn: the role of the nYnwnn yw — for all sins “light, serious” etc.
a  challenge: the terms are redundant
i answer: phrases are forks; mw = became aware/didn’t yet become aware; mbp = nwyn R nwy etc.
b question: what is the nature of the nwy?
i if-hedidn’t do naywn - v. 1 prevents acceptance of 117p
ii  if he did n1wn - forgiveness is immediate as per Xn»M2a of M9 'MYN (RNYT N"a)
iii answer: w/o n2ywn, per 721 who rules that 5"y atones, even if Y1901 7MY, except for:
1 three violations; N2 791 ,N7IN2 B9 12N ,5 pa (all per v. 2)
(a) even those: if he repented, forgiven as per na nny
2 and: 1317 interpret N15N N0 as 2"MY/A"MY
iv  question: how could author be 727 - since 890 is "> 1 (Who disagrees with w™ about 1yw and nd)
1 answer (901 *7): 727 accepts NN’ "1’s position re: 1Yw
(a) question (»2x): did qoy 1 mean that »27 accepts N ", not the inverse? or does N’ 1 agree w/»a1?
(b) answer: only »11 agrees with nTin "
(i) proof: ®av rules that 3"nv is effective only with naywn (per v. 3- IR)
(ii) and: anonymous author of 8190 is N’
(iii) contradiction: X190 rules, per v. 4, that even if he doesn’t abide restrictions of 3”n — 991!
1. resolution 1 (»2ax): 2"4 passage is authored by 717
2. resolution 2 (#37): they may both be 7
a. I¢passage: '31 agrees that if he violates n12 of 2”nv that it isn’t effective
b. argument: else — what is the point of n72 on 5"
i.  block: if he violated 5"nv at night and then died — died “unatoned”
3. rather: n3 of the day of 2”nv is pointless
i.  rejection: if he choked on a bone while eating on 5”1 —(or ate just before end of
day) - still has meaning (we have to accept »ax’s resolution)
II 1 mwn: dispute w"/nmn’ "3 whether 0303 have any 1193 (for other sins) with nonwnn yw
a (clarification of wording of mwn)
b source (for 7177 *7): v. 4 — extends all mn9, for 03 and “>npn OY” to VYWY
¢ w7y they are all equated for gaining n193, but each group gains with its own distinct 129p
i source:v.5 equates both D 1YW; just as 01191 VYW is only for YR (per v. 6 "DY? TWR"), s0 too NYNWNA PPV
ii /7 7 they are compared such that the two goats must be exactly matched (height, appearance etc.)
d  observation: X2 which suggests that 0’302 have no 1192, then assigns it to IR 5w 175 seems to be v (R27)
i »ax. could even be nTi '3, discussion is re: DN NNV from VTPN NRNMV
ii a7 since 1IR’s 99 is ™Y TWR” (v. 9); but they have n193 as per onan 5 (v. 4) — must be 1R YW 175, which
is already extended to his household — and v. 7 identifies 0103 as 1708 n’a
iii  question: does my% IWR come to teach that it only atones for Y81%? = must come from public fund
1  ansswer: that is inferred from v. 8 — 11 n7y nxn
2 and:15 1wR teaches that he must bring it from his own funds, not from o>
3 and:v. 10 repeats) 7WR to make his purchase (alone) indispensible
4 justification of use of ...;777N 172 ©IN3 pay for neither, why is their N9 on his 187 (answer: ©1n3 are 1)
II concluding consideration:
a w75 2 pym and 990 07 - corresponding to 12191 YWY, PINI VYV, NYNVNN PPV
i »715. one for his family, then the n’1n3, (he must be *xd1 to help the n2a»n) then YR
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